


主动 被动

I clean my room every day.

My room is cleaned by me every day.

①主动宾语

②主动动词

③主动主语

④主动其它

被动主语

"be + done"

by + sb.宾格

保持不变



the office, clean, every day.

The office is cleaned every day.

方法："be + done"

1.  done

2.  be-时态？

3.  be-单？复？



In many countries, traditional foods are being replaced

by international fast foods.

This is having a negative effect on both families and societies.

To what extent do you agree or disagree?

be being done



1. 哪个图极有可能用到被动语态？

答案：流程图（生产）+地图

2. 描述哪个图时句子中经常出现过去分词？

答案：流程图（生产）+地图

3. 过去式和过去分词的区别？

答案: be done; have done; 名+done 短语

第三章



Lamb and chicken were eaten in similar quantities (around 150 grams),

while fish was consumed (just over 50 grams).  

-----考官范文



4. 流程图在什么情况下用主动语态？



done
议

论

文



Public museums are not needed because people can see
historical objects and artistic works by using computers.

To what extent do you agree or disagree?

In my view, public museums cannot be replaced by computers.



• 剑桥 8 text 3

Increasing  the price of petrol is the best way to solve 
growing traffic and pollution problems.

To what extend do you agree or disagree?

What other measures do you think might be effective?

P167 考官范文



• 剑桥 8 text 3 P167 考官范文（包含被动语态）

There is no doubt that traffic and pollution from vehicles have been huge problems, both in cities and on motorways. Solving these 
problems is likely to need more than a simple rise in the price of petrol.

While it is undeniable that private car use is one of the main causes of the increase in traffic and pollution, higher fuel costs are unlikely 
to limit the number of drivers for long. As this policy would also affect the cost of public transport, it would be very unpopular with 
everyone who needs to travel on the roads. But there are various other measures that could be implemented that would have a huge 
effect on these problems. 

I think to tackle the problem of pollution, cleaner fuels need to be developed. The technology is already available to produce electric 
cars that would be both quieter and cleaner to use. Persuading manufacturers and travellers to adopt this new technology would be a 
more effective strategy for improving air quality, especially in cities.

However, traffic congestion will not be solved by changing the type of private vehicle people can use. To do this, we need to improve 
the choice of public transport services available to travellers. For example, if sufficient sky trains and underground train systems were 
built and effectively maintained in our major cities, then traffic on the roads would be dramatically reduced. Long-distance train and 
coach services should be made attractive and affordable alternatives to driving your own car for long journeys. 

In conclusion, I think that long-term traffic and pollution reductions would depend on educating the public to use public transport 
more, and on governments using public money to construct and run efficient systems.



• 剑桥10 test 1 section2 Q14



1
Goal

目标

2
Planning

计划

3
Training

训练

收获

李里-学为贵微博：


	幻灯片 1
	幻灯片 2:  主动    被动
	幻灯片 3
	幻灯片 4
	幻灯片 5
	幻灯片 6
	幻灯片 7
	幻灯片 8
	幻灯片 9
	幻灯片 10
	幻灯片 11
	幻灯片 12
	幻灯片 13

